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Problem 1 (15%)
EHTFHSHF2 o PRk (EHRM):
(HPVC 2)PS (3) Nylon 6/6 (4) PET (5)PE

Problem 2 (20%)

()3 M8 8 %8 4 5 4 F(thermoplastic polymer) $L 3% Bl 14 & 4 -F(thermoset polymer)Z 7.
F] - (6%)

(2)3% 3% 1 3£ B 48 (copolymer) $2 3 35 45 # (polyblend) 2R F] - (6%)

QEMERAAER B RASBITARSHAR  MALAHERSR  THRANWH
FEHA - HHEZ ?(8%) :

Problem 3 (12%)
ERRBES S FEHFTFEATOE? RDHFALFT? 2 FETHBE R XA FTE
A7

Problem 4 (12%)
FERRAMEPP)Z =M Y ¢
(1) F} & % 428 (Isotatic polymer)

(2) & & 3 4-#2(Syndiotatic polymer)
(3)3t & X & % (Atatic polymer)

Problem 5 (14%)

DFRRNZHBEHBROBERNERZFA - 8%)

(2)Acetone (5=9.7NTEMF LA ERABHES - (6%)
(a) Polyvinyl acetone (6=9.43) '

(b) Rubber (5=8.15)
(c) PET (6=10.7)

Problem 6 (17%) .
VFERBRH-RBERTHTHEHERSHZERE - (%)
(@%@ (b)#& M 5% (c)me. M Bk, -
QF#MAT 7 55 FhEaEE * (8%)
(a)tn o Izod #}##5% 3% & (notched Izod impact strength)
(b) = 237 #h 5% 2 (Flexural strength)

Problem 7 (10%)
SN TRARETY » FHRBEE A & A9 RS RA(Free radical chain polymerization)
#13% 3% % 4 R M (Step polymerization) ? A
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